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Imporiant;

(i) Answerallthe questions

(ii) In each of the questions 01 to 40, pick one of the alternafives (1}, (23 (3), (4) which you consider
correct, or most appropriate.

(1iiy Mark a cross (X) on the nmnber corresponding Lo vour choice in the answer sheet provided.

(01) Select the answer which contains seeds adapled o disperse only by wind,

{1} Love grass, Wara {2} Crebid, Olu {3)0lu, Hora {4} Warn, Hora
{02} Outofthe changes laken plece in the human ovary and the uierus, a main phase taken place inthe ovary is,
{1} mensiural phase {2] Luteal phase
(3) Secretory phase (4) Prolifgratjon phase
{03} Anelecironisa,
{1) negalively charged particle {Z}posilively charged particle
(3) neutral particle {4) particlc present in1he nucleus

(04} Whatis theunitofthe momenl of force?
{1yJ (2) Nm (33Nm” (4 Is"

05) Which ofihe following moves according to the pair of action and reaction?
1) toy car (23} rocket (3 Sailing ship (4} Kite

*  Eightconseendive elements in the third period are given below, Answer question No. 6 apd 7 using

them.
Cragh S M oR AL Siit B 180 BINES A

06) Element which has compieted all appropriate number ofelectrons in the en ergy levels is,

{1)Na {2) Si {3)C1 {4) Ar
07) Whatisthe element thar makes a stable ion with a charge of 277

(1) Mg (2} P (38 (4} Cl
08) Which of the following is a usage of equilibrium of forces?

(1) Rotating raban ona pole. {2)Sucking drinks from a straw.

(1) Cuting clothes using a scissor. {(4) Pushing a weight.

09} The wown P is localed higher than the town  when height (rom the sea leve! is considered. The minimum
height of the mercury column of a correct mercury baromeler placed in lown {2 can be,
{1}65cm {2} 69cm {3)76cm {(4)78cm

[0} Watersoluble vitamins are,
(1) VitaminAand Vitamin B {2} Vitamin B and Vilamin C
{2} Vitamin C and Vitamin D (4) Vitamin Dand Yitamin E




{11} Ancbject wilhe the mass of 20 kg, moves wilh an acceleration 'a’ when an unbalanced foree F acls on it.
What will be the acceleralion of the object wilh the mass 40 kg when the same unbalanced force acts on it?
{Ia both instances, objects move on a smooth horizontal plane)
(2 (2)a {3)2a {4) 4a

2
(123 Ancleciran microscopic, diagram ofan organetle olacellis shown below. Select the angwer which shows

the organelle and its funclion cormecily.

{1) Endoplasmic reticulam - Supplying places for synthesizing protiens.
(2) Golgi bodies - Cellular respiration

(3) Golgibodies - Producing secretory products and sloring

f4) Endoplasmic reticulum - Iransporting function

{13) Which ofthe following isa usage of genctic cngineering?
{1} using bio pesticides.
{2) producing improved seedlcss oranges.
{1} using E-coli bacteria for the produciion of Insulin.
{4) breeding hens thet produce large number ol eggs.

(I14) The amount of substance thal contains as many basic building unils as there are atoms in exactly 12 g of
3¢ isotope is known as,

{13 Avagadro constanl {(2ymole {3) molar mass {43 lormzla mass

{15) A file clip is attracted by the poles of a strong bar magnet, The file clip is at rest initialty. Which of the
following is its velocity lime graph when being attracled by (he magnel?

1w (2) ¢ (O} [ 4y "t
1 i | [ 4|

{16) The diagrams below show four instances that two coplanar parallel forces act on the same object. Which
ofthe following instances is the resullant force meximum?

4N
(1} an (2) 4N AN (3) (4) SN
% tﬁ BN AN
4N .
{17) Which ofthe following molecules contains iriple bonds?
{1} Hydrogen molecule (2) Dxygen molecule  (3) Nitrogen malecule  {4) Chlorine molecule

= Queshon No, 18 and 19 are based on rhe informations given below,
Belative atomis massesof H, C, N, 0 and 8 respectivelyare 1,12 ,14,16 and 32

{18) Which answer shows the pair of compounds with similar relative mulééuIar Masses,
{13 CO,and NH, {2} N, and CO; (3)H,0,2nd NQ, () H,0,and H.3

(19) Select the answer which shows the number of atmos similar to the number ofatoms in g of Nitrogen.
{1) 6 goloxygen {(2) 6 gofcarbon {3)7 gofoxygen {4} 7 g of carbon

(20) Fourslalemenls regarding classification of organisms are given belov-.
A - Pinusisa llowering plant with seeds.
B - Greenalgae belongs iothe kingdom protista.
C - QOrganisms belong to Domain Archaga iive in extreme environmenls.
D - Leavesof Monocotyledonae plants possess a parallel vanation.
Truestarements oul of them are,

(1) A,BandC (2) A.CandD (3)B,Cand D (A, BandD
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{21) Selectthe correct staloment
(L) Albinism is a disease inherited from a sex linked recessive gene.
(2) Thalassemija occurs due to linked recessive gene.
(3) Haemophilia is inherited from an eutosomal chromosome and a linked recessive gr,ns
{4) He l:mr.:rphjlla is inherited from a X linked recessive gene.

(22) Relalive alomic masses of elements H and 5 respectively are t and 32. Whlch answer shows the mass of

H,S molecule?
- =3 Alhs o 6.022.x 10°
(1)6.022x107g (@) s022x10°x34g  (3) T =8 (4}—34-—— g

(23} Aniron sphers falls freely vertically down from a hcighr'h‘. Atwhich height is the potential me;rg}' of the
iron sphere equal to the kinetic energy?

3h h h =
{”T (2) = G) o (4 h=0 .
(24) What is the answer that shows the groups of animals respeclively that bes, snail and earlhworm belong to?
(1) Molluska , Arthropoda, Annelida (2) Annafids , Mofluska,, Arthropoda
(3) Arthropoda , Molluska , Annelida (4) Moliuska , Annslida, Arthropoda
(25) Which of the following metal reacts with diluted HCI?
(1)Ag | (2) Pb : (A)YPt (4) Au

(26) Which of the following is not a significance of carbohydrates? -
(1) Using asa source of energy incellular respiration of organisms.
(2)acting as a storage compound. '
(3) acting as a structural component in organisms.
(4) acting asmolecules storing genetic information.

(27} Corresponding values forx, y and z respectively in the squation, x Al + y O, — >z ALO, are,
{(14,2.2 (2)4.,2,3 {3)2.3 .4 (44,3,2

{28) Severl pmperties-of compounds are shown below.
A -~ fused compoundsconductelectricity

B - existsasioniclattice

C - consists of molecules made cul of several stoms.

D - hasrelalively low melting points and beiling points. .

Qutofthese properties, what are Lhe properties thatcan be seen in ionic compoynds?

{()AandB {2) BandC (3)Cand D {(4)AendD

29 ﬂlnadoﬂmﬂﬂlsmlsuibyamm4mwmllyupm lﬂs.thhmu'stmmﬂi?mofﬂ:mnn?
o000 x4 1000 x 19 A0xq Wollone

(1) 1000x4 o @ L0xi0 5, ) Mid @ o W
(30} Which of the following equations r:prel.smma single displacementreaction?

(1) 2Mg+0O, 2 MgO (2)2HO, ——— 2HO+0,

(3) Mg+2Hel—— MgCl,+H, {4)BaCl, +2 AgNO, —* .2 AgCl+Ba(NO,),
(31) Four organisms are shown by'A., B,CandD

A-amogha B - Paremecium C-Valisneria D - White ant

Inwhichtwo organisms can an organells level organization be seen,

4)CandD
fr”‘q'm:'ﬂ (2) BandC . (BJAandD Gradr(.'g-ﬂ;.‘:m-mhm}’mmu




{32) Which characteristic cannot be seen in virug?
{1) Conwins only DNA or RNA {2) reproducing only in living cells.
{3) Enclosing the nucleic acid by a protein capsid. {4} conlains organel[es.

{33) Which olthe ollowing chemical reactions is noi relevant for extraction ofiron ?
(DALD;+CO —» 2AI+CO,
(2)C+0, — CO,
(1HCo,+C —— 2C0
{4} Fe,0,+3CO— 2Fe+300,
(34) 2 ml, 4 ml, 6 ml end & ml dilute HCI solution is put inte four test tubes A, B, C and D. Distilled water is
added 1o them Lill the final valume is 10 ml. [dentical pieces of zinc are pul into Lhese Lest tubes in (e same

lime. Which answer shows the rate of reaction in the azcending order?
{hD,C,B A {2 A,B,C,D {3),B,C,A {H)A,B,D,C

(35) This diagram shows a smooth gutter. A glass ball is moving forward in 2 uniform velocity passing the
inlA. o umer
poinlA gt bt p () C E

A B D E
Which of the following statements is corrcer regarding the motion of the glass ball?

{1} Itis moving with auniform acceleration frem A o B.
{23 I is moving with aunilorm deceleralion from Bio C.
{3} 1t is moving with aunilorm deceleration from C e .
{4} Itis moving with auniform acceleration from D 1o E.

(36) Thisdiagram shows howtwo coplanar forces P, Q acton an object.
Their resullanl force is shown by R.
To keep the objectin equilibrium, i
(1) asimilar force lo R should be applied lowards P. :
(2) asimilar force to R should be applied towards R.
(3) asimilar force to R should be applied to the opposite direction of P.
(4) asimilar force to R should be applied to the opposite direction of R.

(37) Fourcircuit diagrams are shown below.

A R R R
R R A,
AW AWA_ " S T SN P EM
{A) (B) {C) _ ™
Outofthem, equivalent resislance of which circuil becomes R?
(LyA (2) B (3C (4D

-

{38) Which answer shows Ihe correct value of the permanent resistor shown in the diagram?

red =" b ‘\lll\"ﬁ
{1121 ¥ 10% (23 2101 10% 200+ 10% (4328101 10%
(3%) What is the most suitable aclion that can be taken to avoid from germ infection?
{1} Drinking cooled boiled water (2} Drinking distilled water
{3} Drinking waterrefined by water filters— — - {4} Diinkin g bottled water

(40} Themostsuilableecticon lo control dengue s,
{1) Using 2 bacteria to control mosquite larva (1) destroying breeding places of mosquiless

(3) repelling adult mosquitoes by mosquito repellants (4) Using mosquito repellant creams
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Part A - Structured Essay

(1) Read the paragraph and answer the following questions.

Atmosphere is a covering hal sutrounds the earth. It consists of mixiure of gases. These gases
exist around the earth withoul going away due 1o the gravitational (orce of the earth. The most abundant
goses in the simosphereare N, , 0,, Arand CQ),. Ne, He, H,and O, gasses are prescnt in traces.

CH, ,80,,CO,NO;,, H,5 and CFC gases are present as air pollutants. In addition o these, water
vapour is present bul its composition get changed. Solubility of NO,and SO, gases in waler takes a high

value.
Mainly CO, helps to maintain ihe (emperature of the earth. Additionally CFL, , 50,, H,0, O,and

CIFC gases contribute in a certain amount for it. SO, is emitted due 1o combustion of coal and NO,due o
combustion of fuel to the environmenl. Emission olNQ, ¢an be controlled by fixing catalytic converters
1o the exhaust system of vehicles. Emission of §0O, cen be controlled by burning coai from which sulphur

removed.

{1} {a) €ilohalwarming isa main environmental problem in the prescnt. Increasing the concentration of
which gas is the main regson for it.

.....................................................................................................................................................
.....................................................................................................................................................

....................................................................................................................................................

.....................................................................................................................................................

£2)  Acid rains are oceurred when acidic gases dissolve in water,

fa) Mamethe lwomain pases responsible for 1he pecurence ol acid rains.

.....................................................................................................................................

...................................................................................................................................................



{c) Name one method each for reducing releasing the gases you mentioned in part ii {a) to the
atmosphere.

EEIEEEARRRSARRREARNPRRE FIvss W ppnenp g napananatanpanpabhdnanddbnnnnkrdnbbddnnidaldnnkl B e Y Kl = T [

(iii} Blement likeC, &, Neirculare on the sarth, in lhe stmosphere and m orgenisms bodies {n a cyclic mannen
fa} Na’he Lhe bislogical process thet cemoves O, from the atmosphere,

.....................................................................................................................................................

.....................................................................................................................................................

{c) Neme the groupoforganism thal helps for it?

{1¥) "Collection of dust in large amounts te the atmosphere hatved the production of food in plants.”
Write a.fact to prove it.

...........................................................................................................................................................

(02} {A) Biachemical reactions like cellular mpir&tinn are catalyzed by enzymes, Shown below ere several

stepscfan activity done Lo demonstrate the ection of amylase on starch.

*  Taking aquous solution of starch into a test tube and adding equal volume of amylase enzyme
intail.

*  Mixingiv vell and separating into 3 equal volumes. Putting them inta 3 testlubes P, Qand R,

» Immersing .= 3 tesl tubes in 2 water vessel al a tempernture of 37'C.

+  Adding E drop of lodine into them as given below.
after 1 minutesto P
afler 1 0 minules o4}

afler 30 minviesioc R

(1) Whatisthe reason for leking an aquous solution of sterch for the nctivity.

...........................................................................................................................................................
...........................................................................................................................................................
I L N e P PP

{iv) Towhichkind of simj:.lig ke s starch converted by emylase in the mouth?

...........................................................................................................................................................
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(B) 75% of weight ol human body is water. There is considerable amount of protgin in it. Other biclogical
molecules and minera) salis are also present in the body.
(i) Write2wayshow protein is significant for the activity of human body.

...........................................................................................................................................................

{(i¥) Fill in tha blanks in the paragraph given below.

Ctter boundery of & plant cell is known as cell wall. It is made Up GF (1) c...oceerieeecvereeieereeren, .
The biclogical molecule iLbelongs is composed ol elements hydrogen and (Fi} ..ov..eereeeoreeeeerccrronses .
Innermembrance 1o the cell wall is KNown 28 (i} e i resseereieees £

(03) (A) Description about 4 elements oul of first 20 elements in the periodic able arc shown below. Symbols
used are nol siandard symbols, Answer the questions only using the given symbaols.
L-Valence shellis compleled. Locates right side ofhe sirongest electronegalive slement.
M - beeomes stable by making univalent positive ions. Ithas the lowest lirst ionization energy.
(3 -active gaseous element. It occupies 20% of volume of the stmosphere. I
R - Possesscs the hardest allotrapic form that exists natorally, Used for mal:ing electrodes.

(i) Identity L, M, and R and name them,

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

(iv) An incomplete diagram of a lewis structura of & molecile made by Lhe reaction between R and Q is

given below. Complere it.

Q=R=Q
{B} Informaticn aboul several ¢lementsare given below.
element mﬁs of an an atom (g}
C alomic mass umit X 12
0 atomic mass unitx 16
S atomic masgs unit x 12
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Answerthe following ﬁucs]ions using the above information.
{i) define the word 'atomic mass unit’

"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""

..................................................................................................................................................

---------------------------------------------------------------------------------------------------------------------------------------------------

{04) (A) Thevelocity-time graph of an object which moved along a siraight hine is given below.

velogify
(ms™} 1

o o2 0> el
{1) Nametwo vec. -t quantitics thatcan be identified using the graph.

.........................................................................................................................................................

...................................................................................................................................................

---------------------------------------------------------------------------------------------------------------------------------------------------

---------------------------------------------------------------------------------------------------------------------------------------------------

(iii) If the mess of the object is 20kg, calculate the unbalanced f2ic; aoting on the obj aci in the direation
ofthemation sirween 0S5 - 105

---------------------------------------------------------------------------------------------------------------------------------------------------------

(iv) (a} What istheunbalanced force ectingonthe objectduring 105-303

(b) Name the Newton's lew that explaing it and writo the taw.

--------------------------------------------------------------------------------------------------------------------------------------------------

---------------------------------------------------------------------------------------------------------------------------------------------------



Part B - Essay Type

(05) Structure of e botanical garden prepared in iha school is given below.

Zone of
non - flowering
plants

Zone with
underground
stems

Zone of
plants that do
vegetabve
prapagallon

(A} (i} Ginger is grown in the zone with the underground stems. To which kind of underground stoms

does Ginger belang?

(i) What is the name of the sexual reproductive struciure of a flowering plent?

(iii) A student seid that flowers are pollinated by insects like bees. Explain briefly what the
pollination is,

(iv) Write 2 adaptations shown by flowers which are poliinated by insects.

{v) Cashew from the cashew plant present in the botanical garden were scatiered in the school
premises. Whal is the egent that helps for these dispersal of seeds?

(B} Therears prawns and fish in the pond and fems plants can be seen around it.
{t) Whet is the main animal group thet prawns belong?
{if) One studenl said that fish is 8 poikilothermic animal. Explain briefly what poikilothermic is,
{ii1) Whatis the reproductive unit thal spreads the ferns plants which are eround the pond?
{iv) Compare ihe structures shown below in plants of cashew and arccanut present in the zone of
flowering plants.
(8) venation {b) numberofcotyledons

{C) Several hormones contribule in the human reproductive process. Formation of secondary sexual
characteristics of males and maintaining them are done with the secrelation of testosteron.
{i) Namethe two hormones secreled by Lhe ovary 1o maintain the menstrual cycle of a female,
(ii) Name the medium that transports testosteron from Lestes it ssereted and to the organ it does its

function.
{iii) Name 2 corpuscies present in the medium you named and write a function of each of them.

{06} {A) Enormous number of chemical compounds are formed by making chemical bonds among many

" atoms,
(i) Namethe tjrpe'd"f"bdnd presant in the chemical compounds given below.
{a) water G (b} sodium chloride

{it) How many electrons are there in the valence shell of O alom Tn a water molecule?
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(b} Neme a special physical proparty possessed by water due o the above mentipaed bond
fype.

(c} Howecan you show using anactivity that sodium chloride is co mposed of Na+and CI

—

(B} Consid%r the aclivitics given below namedas P,{Q, Rand 8.

P - buming magnesium in air ;

Q - puuingacleancd picce ofzinc into a copper sul phate solution
R - Heatingapiece of suiphurinacrucibls.

S - Selitingaiogofwood.

(i) Write 2 letiers of activities that come underchemical chan gés.
(il) Whal is the letter ofthe activity that gives a gaseous product?
(i) (o) Write the balanced chemicalequation
ib) Wrileoncobservalion
relevani to the activity Q
(iv) According 10 the activity Q which meial is more active copper or zinc.

(C} (i} Hydrogen 2es can be produced by reacting magnesium with an acid. Write the formula of an
acid mostly used in this activity.
' (1i} How cunyou prove Ihat the gas sample produced is Hydrogen?
{iii} Mention two ways that Lhe rale of reaciion of part C {i) can be increased.

(07) {A} Shown belows e nvosel-ups prepared by using two {dentical cetls and nwo i2enteat voltmeters.
(Resistance of connecring wires is negligible)

=) =D

sel-up | 5l - up 2

= 1=
| K2
(i) (a) Usingwhich set-up canyou obiain the volage of the cel]?
{b) Whatshould be done [orit?

{¢) Whenthe K, switch is closed, reading ofthe volimerer in set-up 2 ean be obtained. |s it & gher or

lower than the reading oblained in part (b} above. Explein the reasor So0ip Ll
(B) Diagram showsa pmce c-f metal hunging NewsAs 4o e, T
() Thepisceor mﬂ" alwas cumplctely immersed in water while hanging Newisn
inthe Nem::rnhalance Then the reading ofthe balance was 16N, balarice | 3 120N
{2) Whatisthe upthrust created by water on the piece of metal? \/
(b) What is the weight of displaced volume of waler in this insfance? o (1)
{ii) The piece of melal wasteken aulof walerand immersed mete)

completely in coconutoil, Then Ihe weight ofvolume of dlsplu,c-nd coconut il is higher lhan the

displaced weight of vqumenfwaler in part(h} Explam the reason for this scientifi cally,
i Grade 10- Sgicnee 1| - Southern Province



(C) A 10 cm iong spira! spring is kept in e vertica! position by Tixing one end of it 10 a table, A Ioad of

100N is balanced on the open end of the spring. Then the length ofthe spring
getdecreased up 1o 8cm, ok
{i} What is the ameunt of work done by the load on the spring?
Y h ol elasti . : : —
(ti) How much oflelastic potential energy is stored in the s pring] fem A

{iii) How much of potential energy is stored in the load which is balanced ' pring
on the spring?
{iv) What s the reaction farce created by the 3 pring on the Joad?

(I} Theend Aolthe uniform rod AR touches the horizonte] fioor. The end B |s placed onabasal pole.

100N +—— basal pole

i
I
I
|
|

— 05Sm —
-— Im ——p

‘\ floar

(i) Whatis the clockwise moment of foree an the rod around pointA.
(ii} Usingii, calculatethe force F applied by the basal pole on the rod af the poinlB.

(08) {A) Anactivity was donc o oblain a new plant from & certain plant. In this, & matured leaf was removed
from a smali plant siem. Afier 3 1o 4 days of this, an ective bud above the leal scar was removed by e
sharp knife. Next this bud was fixed to a suitable plant stem and wrapped by palythene stripes.

(i) Namc the vegetative reproductive method done by using buds.

(it} Whatdoyoucall the plant part connected to the soil ta which the bud is [ixed?

{iil) Write two important characteristics thal should be posscsscd by the planr parl you menlioned in
part {ii}

{iv) Wrile 2 advantages of vegelalivé reproductive method mentioned in part(1) abave.

(B} (i Neme2 methods of cell division.
(il) Wrile the number of chromosomes preseni in daughter cells after the end of cell divisions

mentioned in part (i}
(i} How many chromosomes are there in a zygote made by joining bwo gameles each with 'n’

number ol chromosomes?

{C) Theamouni ofcurreat flowing Lhrough a resistor get changed
when the potential difference at the two ends of il is changed. -
Acircuitdiagram of an aclivicy thal cen demonstrale itis
shown below.

{i} (a) Name the instrumentused in the lzborziory for P,
{b) WhatisdonebyP,
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{11} lhese instruments were used accurately and ammeter and voluneter readings were oblained. Such
readings oblained in4 instences are shown in Lhe table below.

Instance polential differeni (V) Current (A)
Ty 1 12 0.1
\ 2 24 0.2
16 0.
4.8 0.4

{a) Plolegraph using ihe above readings pottential difference against current,
(b} Write the refationship between polential difference and current, according Lo iL.

(D) Thediagram below shows how 4 resisiors are conascred.
o0

— A
1062 105
—— A AAM |
A B 20 |[C
A

(i) Findthe equivalent resistance between AB.

(ii} {a) If 2A cumrent is flowing through B, What is the current flowing through 200} resistors
uploC.?
(o) According toit, what isthe polential difference berwesn B,C.

{09) {A) This diagrem shows asetup used wo prepare a gas. S
fiy Whatshould be doneio start the reaction? Sk N\ hellogn
{il) Wrire 2 observationsthat can be seenafler e bailing lube with a
doing the above change. hole
{iit) Write the balanced chemicel equation crystals of i
v : CaCo, _| @00
relevanl tothis reaction, 3%
(iv) Lnthis activity 0.44g 0f CO. was produced, , Teaer—> L
(C=12,0=16) , e e o UG

{a) Findthe molar massolCO,
. {b} I_:{uw many moles are lhere in (.44g of CO2.

{B) Thisdiagram shows asctup that uses the siphon method 1o remove
waste waler from g fish lenk.

(i) Keepingalwhich lcvel outof . (1 =5ouyd the end of the
rubbertube with | .. .1in be opened 1o remove water.

[,iil Ex p.lain scientifically how waleris removed inthis
instance.

(ii) Merk in adiagram, the forcesthet act on the fish,
when the fish is at resl in that place.

(iv) Fishswimshorizontally with auniform velocity.
Write the law relevant [or this motion.
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